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LRI As t=10cm | A= 59.28  +21.35 +170.69 251. 32
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N543 i [ 3 514 1H
RAERLT(ANMEL) FAMKBEAS20 t=5cm m |A= 170. 69 170. 69
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Hi3E A (1)
EJ=l /RSB EASI3  t=3cm m |A= 21.35 = 21.35
Ny A i AR (1)
- JE A T PRI A (30)  t=10cm m |A= 28.93 = 28.93
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FET F/ESBRIEAS13  t=bem m |A= 59. 28 = 59. 28
X | X TR AR A IR T B M W=15cm m [ L= 43.10 +232.90 +3.60 +45.50 +30.00 +22.40 =  377.50
X T AR 1H T MR W=15cm m |L= 11.30 = 11. 30
X AR A 1A L i EME W=15cm m | L= 45.20 +26.60 +98.80 = 170.60
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Widi(m) | FEm | Bimm)  HEG) | BEm  HEG)  BHEwm KB Bmm HEG) | BEm HE W)

2ANO. 6 - 2. 000 - 3. 350 - 1. 200 - 3. 350 - 3. 350 - -
2ANO. 7 20. 00 2. 000 - 3.101 64. 51 1. 200 - 3.101 - 3.101 -
2ANO. 8 20. 00 2. 000 - 3. 030 61. 31 1. 200 - 3.030 - 3.030 -
2ANO. 9 20. 00 2. 000 - 3. 050 60. 80 1. 200 - 3. 050 - 3. 050 -
2ANO. 10 20. 00 2. 000 - 3. 200 62. 50 1. 200 - 3. 200 - 3. 200 -
2ANO. 11 20. 00 2. 000 - 3. 110 63. 10 1. 200 - 3.110 - 3.110 -
2ANO. 12 20. 00 2. 000 - 4. 357 74. 67 1. 200 - 4. 357 - 4. 357 -
2ANO. 13 20. 00 2. 000 - 3. 155 75.12 1. 200 - 3. 155 - 3. 155 -
2ANO. 14 20. 00 2. 000 - 3. 203 63. 58 1. 200 - 3. 203 - 3. 203 -
2ANO. 14 +4.00 4.00 2. 000 - 3. 202 12.81 1. 200 - 3. 202 - 3. 202 -
2ANO. 14 +4.16 0.16 2. 000 - 3. 202 0.52 1. 200 - 3. 202 - 3. 202 -
[F] AT 2. 000 - 3. 202 1. 300 - 3. 202 - 3. 202 -
2ANO. 14 +7.59 3.43 2. 000 - 3. 202 10. 97 1. 300 - 3. 202 - 3. 202 -
[F] AT 2. 000 - 3. 202 1. 200 - 3. 202 - 3. 202 -
2ANO. 15 12. 41 2. 000 - 3.3b1 40. 66 1. 200 - 3.3b1 - 3.3b1 -
2ANO. 16 20. 00 2. 000 - 3. 435 67. 86 1. 200 - 3. 435 - 3.435 -
2ANO. 16 +8.00 8. 00 2. 000 - 3. 435 27.48 1. 200 - 3.435 - 3.435 -

/NG 208. 00 685. 89
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N54Z 38 [ 36 574 I
LT (ANAOMETL) AR EAS20  t=5cm o [A= 53.95 = 53. 95
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XA XA A TH T M OE#R W=15cm m | L= 104.90 = 104.90
BT R T T #OJEHE W=15cm m |[L= 104.50 = 104.50
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